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Q.No: 1 5 & § $-a1 Rigor &1 Rigia 78 22
A e 1 RigiT

B T q ol B 3R

C e & ST @1 ofR

D WA A Bl BT IR

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 2y ifefa T

A i g &

B ool WHIRS BiT §

C yT e F e ST @
D T F AR

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 3 9 ¥ ¥ SRS Rien 3t wwaar gee: g w ik s 32
A Faq g2 1 THN-ARGIS IEHH W

B Faa T PT UINET e 1 Gl 9 |

C Faa g Bt Hiva TR BT &M G I

D TS F BRI PI TS TGTH R

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 4 FEFI-FY F AT § HH-9T T8 AT Tt 82
A e HUSR FI fadre

B HegARITCdT T faer

C GoHTETHal BT faard

D I & fifd &9 ¥ uieg

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 5 He4ih+1 T 7 Ie=d EIell § g S fob-

. =t 3 e U U3 §

. Rreger 2 fba UIe Tg@ §
. = 3 ded §

5 3Tet Tl ¥ A He

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 6 Hidar I Haqul @id ¥ TgAT

A Fa g o1 v MR ¥

B Bl P T B JAFA F Teral Bal §

C T BT THRSH Bl §

D T Bl T, IAAHR Bl TGN JAT
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Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 7 fafea /i i difg & =i &1 Fgrdr o 8-

A Fad U5 B BT A BT B

B T el Tl ge i S B

c T B G P & R TR B UG P AR 3R ATAD &HT P BN P AR e 1
D T gl & faRy & oRkRa 3 71

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 8 cliiidi T HINT B Dansii H R faar S =iy wiifes-

A Tl 1 TgTaT & HTSI- R80T T I I B

B AN T o TFa 71

c Faq Sl & He & RuRe Tt 3t Rien & o T 31
D O 7= Seplaa fadwarel & uikRa 2R €1

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 9 UIB-UgaHR T=i § WY qa 9-

A T ST T I Tl & 5 = wyaree weal 3 uRRa § ar et

B Riere P g T BT TR I € 7 S 3 16 B Rra TR & e R
o Fef-arl P ot g g St &

D UH FTR P 36 BT [ g 31

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 10 19T A &1 et =Ror g & § Fr 82

A s
B TeTl
C fergm
D Kigsl

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 11 w= & fy=ft v Rram & ufa vy St o=, 1% 9o 8-

A SR & oEl F R

B UrfE WR ¥ BE & g

c mAfE TR F BHE S R
D Fad TR T & BEl B g

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 12 el 316 & ol b 1Y iR BT T97 B GAT 9% e e F | o S waifdes ot 82
A T B AAGID R

B = P HT TART Bt &1

C TP & TR A W TBRE

D T I T AR SR I T @ e

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 13 res, Ry, oR=df, ae-faarg sife a=3f @t g WHfas o
A ad7, AR, fofea

B HS, ed, STHIE

C T, e, fofea

D SfrgeT , ST, AR

Correct Ans : A
Subject : Hindi Bhasha 01

ufafthaT orad & BT e B BN B B Teg $d g
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Q.No: 14 78T ¥ig< | g arett Ffeai

A =, RIeP IeTHH SNfS BT Sawaasl F Tha® §
B T LT ¥ T T HOR 94T AUHT TRY

c UTyT e Bt ufthar & WIS IS &

D HI-YRERT BT STl BT SR Wbd Bl §

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 15 UTod Yedeh HTST Riefor 3 Jee: o7 Fgmel ! 87

A =i o1 faf odf 3t TR &t ¥
B RIS I Fo B &

c TSy Bt AR Tt vga el &
D el BT ST B

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

A e QU Y TR Y U@k UP T TRl & Wed STUd SR dK faded BT 99 Sifeie-

“GH 99-919 SET3d gU, T e @ e ifae ¥4 H U@ $1Ud IHMI Ul | TR ERI # Se-99 IPivfar o, o9 # 3iTs gl §97 oid S T faart § s g e, 7 71 & g3, 7 faesh
A F el F1 T A 91 6. G S siest T 7 ofed 1Rt i Tl SR & SR Sal | S T Thdl 9Y9d iR W W B YRR SI 71 A Thdl ol aiad 8 —
¢ & faft=T vl i IRER Udhdl, UH Td UISIR ST H1IH 381l

YRA # 3 oml Td Sfdl & T 8 8, PO T671-951 Td SR 1 SR o 8 81, 1 8 Sat 4T +ff ofeT-31e €1 371 99 qaelg @ HRAay & A URAadl 3 forg 4ia ¥ Siid-Uid Bd 8, SY
I Tl $ fazarR & el ISTERUN Sl S Yol 3| A "R’ = gl “URd &1 Tohdl all Ia-T1 J5d &1 HaIc] )R 9e! s g3 81"

L BT SRS M AT AR 3R TR G U I8 F I I Tohdl IR SHaRae g1 Ife T HRAdNH bl SRUER f=1-f 81 7T, < 3K} URWRS T ST PR 3 o TAR! Wl
P ST I TN 1| 38N & siera ¥ g udl 9ol § i URiFeTa § Uar YRd U6 & 9iefos 3 # offes o, fog sl gaaar & SR gt wfemdl ¥ 80 w snfiuer wifia &= fomm 3
ARt il 3 Rt e SR WPl &1 e TR Y 541, O s8R srearsht wd aififes a1 efiR-oR v €9 @ g3 i U S1am @R @ siagaedl g, aft 59 ST O e’ Bt
HE TS 3 I B el AT PR AP §— “HRA & el I T, el A, ik, SR, TRt iR wot F gyl w-sifkra g1

TS A B AT Thell Bl Ged 3T WeRT ARG I 31 Adhalg 7 Had suR], sfces Trgef faza ot gown 81 sidwaredl gR1 Ht g &t A o= mn s g, @ it &1 3 et fyedt 3
TS HRAR P TEAT SHibarg B gt & 31 DA < ol H 30 Mddwalg 7 4 & F3 Idl B R &Y Ugars g1 I Uadl | 914 e Ufkaalt § Srad 3 e of o 71

Q.No: 16 Iqfed 7w & i Fe1 7 3 I i &1 79 Fifog-

A IS SR & &
B AT Tl

o SHTHAG: TP T T
D HIHR: B AIHAIG TR

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

& R T 7T TN B UgeR gP T U & Ged IRd IaR akdl [3ded T 999 Siivie-

“gH T9-919 SRS Y, o onfifes g Ieriifas ¥U F U@t Sind IHHI US| TR faRi & Se-o9 Yaiofar o, onuw # 3 gl gHA oid wft e faart & s g e, 7 o & g3, 7 faexh
A & el g1 TN A a1 . B i SRR i 7 ofee R Ity Thdn I & SR et off | T I Uedl IR SR WS I B AR S 31 I T $1 Akl g—
I & AT Tedl § IRER T, U9 Ud HISaR &1 S1H B

YR 7 B3 4 T4 Sfadi & AT I8 ©, [P I6-1-96 Td ST | SR ol § 81, I & 71 U o SeT-3(e §1 7 a0 dlave R HRAay $ AN R &1 o a1 ¥ sfid-id B6d &, 39
I Yol H1 fazarR 8 Halladd ITER0 gl S Goball g1 el "SR’ 3 Bgl “HRd o] Thdl qll I 900 Sl HuIc] IR e R g5 81~

L BT SRS M qUT AR R TR G U 6T F T I Tohal IR SH1a%ae g1 Al §7 HRAIRR bl SRUER f5=1-AF 81 1T, < 3R URERS e 31 ST 37 &% FART [adl
B TIUA T TN S| 38T & siere F g8 udl ol © 6 URiFe B 99En URd UF 8 SRpfos @3 B sias o, fg oaie gl & R faexlt widdl 3 g1 W enfive wifia R femm
faR=ft <ifdRrl 3 5aRt e SiR TXla &1 e A1 = o, o gt sirnait wd wnfifes gt 1 $fR-4R uee 89 o 5% Ity uohdT HEd TaR @t sraggswdl 8, a1 ST, T e 3t
P TS 3T I D GEI WS TR THA §— “HRT T AP o B, el Al MRy, afead, Teert ok wel # wnf<gef wg-if&ra 217

TS SR B AT Tl 1 T F9T WRT AABAIG © g1 AABaIG 7 Had sURI, S Grgut faza ot aoan §1 sicparted gR1 $f g o1 F=Iem S0 s &, o oo 31 o1 et fRedt 31
T IR P G SHdBarg B @ T T FSd < G § 39 IPaIE 7 3% F 53 Il F R i ugarE B AT THdr & wiuw S WfdmEl F Seg o e of T 7l

Q.No: 17 IPYa TR & IR S “URd & e &0 7, W8T A, TR, nfte!, TegRt ofk 73t ¥ wnf~agef wg-eiffa g 177 & § frue g2

A ST, T IUPWE
B gfer et

c <A SR
D TRTET e

Correct Ans : A
Subject : Hindi Bhasha 01
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Passage:
FE=: R U U TRIY B dgaR gP U TRl & 9ad Sd e dd [P ed ST 999 Hifer-

“GH W-u19 SRTfed gU, g onfie g Iorifod wu # 3uwt s gerl ol sR fGuRt A Se-se dotofar o, s B 3 gl gHR wie et e faart @ s g e, o B B g3, o faesh
R F ofefie € Y1 A I . v i s i Y ofde uRdig It v I F SRE St | Togd I el IRIad SR 9GS I BT YRR St ¥1 I Taar 1 arad §—
I F AT gl ¥ IRER THdl, UF T4 YISaR &1 S 3§41

URd & B% 4l Td Siadi & T 5 €, T T61-Ue Ud i1 F SR Al & 1, WY € St WIeT ot SfeT-3(an E1 37 e Saelg JX YRGS & O HRAadl B R HIg § 3iid-vid 8 €, 59
AT Tl B [AZaR § FdiaH AR BT S Gl €1 st &R’ 3 gl “HRd B Uhal aul Fe1 G P Bt R uel R g€ 21"

I B AR M qUT oI 3R 58 g2A1 A X & R g uapdl A 31929 31 Al g0 URAART [l SRuast f5=1-R 8 Mg, O 30 URWRS Fe $ STHR ST S gURT Wdddl
P TSUA BT TN $1| SRS & sier g udl Iadr § 6 UiFeTa § 9UET YR U6 8 URelae 9 § ofas o, g o<l gdaar & SR el wfeqd ¥ g0 R s =ifia &= fmn 33
faa=ht fdadl = gt AoraT SR RS I Te F L& 541, P gt sruraft vd enfifes 17l 1 -k a8 @ g el Uohdl 1o 3@ @1 sagaadl g, @it g9 8. T JUIGwH’ Bt
$gl TS 3Y 91 D gl AT B Fbd §— "R G 3bell A g, Sfel A, MR, af&el, Teer! ok wél § wixgef wg-31f&@ 517

TS T B AT THell Bl GG 1 TR GG Y 1 Adpalg 7 Had gR, dfewn gyl fazg ot g 71 sirddaredl gR1 $ i /s 1 i1 orn <l g, & w2t < ) oo et i
31 R B GO SHbarg @1 gl & 71 Foa < <Xl § $9 idde 7 3% $ 3 Tl § ouR &fd ugars 31 i todr § 9146 3 fdkwdl § serma &1 o f w31

Q.No: 18 %1 § A fovar wreg-gw ot vy Sugdert Trerier & et o ram €2

A fR-ik

B ST~ HTHT
C -9

D -

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
&= R Rw Tu T B UgeR @@ M U & Ued 3fd o adl fAFed T 999 Sifie-
“GH VE-99 SRS §U, 81 SiU® a IoHiad ¥4 § 39! BiId 9ol ust| AR ARt § Ja-9@ daivfdr o, $iud ¥ $F1s §U1 §99 o it Y faaRT § s 9@ dier, &8 o1 €1 g3, &9 faesh

IR & 1efF @ el A 91 @, v et 3R i 7 oS uRdia It e e & ERE Sel 3| I I Ul IRE iR WS U 3 SNURRIEr St 31 I Ut o aad 8—
¢ P AT Tl § IRER Tohdl, UH Td HISaR 3T $IH g1l

URd § B3 4l ud Sifadi & AT e §, o I89- T et & SR dl § €1, WY 8 At i off SrenT-oren §1 37 99 Siave R YRAdY F T HRdlad S R Hiae | 3fd-1id 5d €, 39
I Tl BT fARaR H dladd ISTER0N Pl S Gohall 71 s ‘SR’ Fgl “URd BT Thal qT Fa-T1 999 B FAET R 0 g g8 217

I P ARG T T YoTaRAT 3R TR GAHT A T & Y I Topal IR ST 31 Af% g9 HRAART 3 SRUE f5=1-Rr 91 7Y, @t R URWRS Ge 31 3@@R 31 321 gAR Wd-adl
B TSI BT T HY1| SIS F 3197 I g6 a1 9ol ¢ & Wi § THET YR U ) URPhe 9 7 oias U, g oaRke gaadr & SR fFeRh vkt 3 g9 W snfie wiftd aR fwn 3
faa=h fdadl 7 3w iR WP 1 e S L a1, O et srrefl wd enfifes el 1 ofik-ofik aae & @) 5 i Uohdl 1 @ @1 Savaedl g, ot 89 ST, T UGS’ B
FY! TS 39 I B ol Wi P Fbd 5— “HRA o1 HPal 3V 3, Sel A, MRkemeRl, AR, TRl ok ol # wnfxigyf ¥s-eifkra 817

ST S B AT Thdl B TaY q1 Wl SHalg 4 g1 fdwdia - Had gaANI, Sfed Il {939 B TR 71 SMciparedl gRT &1 T8 S =11 S91-1 Sl §, o St <21 &t Iee et i
3 SR ) THR Sibale B g 31 §1 Rod 3 vl # 39 AKiddld 3 22 & B3 sl 1 3R &l Ugars §1 Tsia Ul & a1t 31 Wi & (ed @) Ierif of w21

Q.No: 19 IR Tl & IR HYA “URd $I Thdl a4l Ia-1 TH9 H HAI R G fig g2 31Fe F 3 fvwa 22

A . TH AUHWE
B gferr el

C iy IR

D T it

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
e 9 RE TU Ty B UgeR g@ M U % Ued IR ok akl e T 997 Sifvie-

"B Ie-99 SRS §Y, o SN 7 Ierifoe w0 X SUe! PiHd gHrl 98T FAR R K Sa-5 Geivin o, ST H TS §UI 55 o i Y [ERT & 31 9@ Hisl, &9 oI 81 g8, o fagsh
AR 3 SrefiE SN A 1 . v e 3Rt i T ofe uRdig I uhdr TR F SR Set | TeHd I Uhdl IRIad SR TGS I I SMURRIET St ¥ I Thar 3T aiad —
g F A veo! H TRER TedT, TH T HISAR $1 SrE A1

URd § &3 1 ud Sifadi & AT e 8, o T89-1e Td et & SRR ol § €1, Wiy @ St Ui o S{enT-ore ¥l 37 9ed slave R YRAaY F T YRl 3 R e | sfa-1id 6d €, 39
I Tl BT fARaHR T afedd ISTER0N el S Yeball 31 sl &R’ = gl “HRA BT Thal a7 a1 IHT F HAET R Tt g g8 217

I BT AR T q4T GG 3R T GRAN 9 38T F RIw I Tl WA Sawass 31 9 89 YRAaR) il sRua=t fi5=1-f €1 7, df 3R URURS Be 31 SuaR 3R &1 gAR ad-dr
P GSUA B TN F| 3RS & i § g Ul Iodr § b UriFeTa § 9HEr 4R U6 8 Uikeias 9 F oas o, g o< gdaar  sRor gl wfedd ¥ g7 w snfiue wifia R R
faa=ht el 3 gt FaaT iR WPl B T B L& a1, e e srursff wd enfifes el 1 k- a8 @ g3 Iy Tohdl 1 3@ @1 Sagaedl g, At 89 ST T UGS’ B
Fl 5 39 94 P ol A B FHd §— "R G el o g, STei A, M), afde, TEert ok wél § wixgef wg-3if&@ 517

TS SR B A THdT Bl TG F1 WeRT HdDalG U g1 ADaIE 1 pad gHRI, Tee gyl 49 Bt G0 g1 siapartedt gR1 $ Iras 1 F=IeT S S €, < oot 391 &f <o et i1
3 HR P TR ipare 31 € 37 ¥ Rod O el A 39 KD ¥ 2% & 8 Isdl § 3R &if} ugars §1 I Terel & 14 3 AfF I s(ed o IsFify o T

Q.No: 20 IR{Td TR & AR, I Thdl A F1 A 82
A 1 Td U TR BN 6 S AT I F R ged H WRER Thdl & gl
B
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I & A gedt § TR THdnl
c O T HIETR BT B T I
D e & R goat # RER UEdl, UH T HEAR B $1EE
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

= Y U T T B Ygak R T U & 9ed SR SR a1 faded &1 99 Hifvie-

“gH T9-919 SRS gY, g onfifes a Ieriifos wu F 3uet Siud g Ut TR ARt & S9-o9 deiofar ong, oo # 3 gl 7R oid weft AT faarRt & s g e, 7 o ©F g3, 7 faesh
R & 31efi B T A I . W A 3R i T st uRd It Ted SHad F SR S o) TUgE I Ul ORIEd 9k 9 I B SRR St 81 I Tl 1 aid 3—
g % fafi= geal # RER TohdT, U9 Td HIEaR 1 S B

URd § w3 41l ud Sfadi & A 8 8, % 369-96 T ot H SRR ol § &1, WY 8 S Ui ol S(erT-Sra §1 37 Jad Siave IR HRAdY F T U S R Hiaen ¥ ofia-uid 6d €, 39
I Tebll B fagaHR 7 ala IATGRVN gl S Yeball g | Idlseled ‘SR’ -1 gl “HRA B Tl a1 Il IHY Bl HHIC! IR Wl RIE g5 2 1”

I B SRS AT T GoTTRIT SR e GAAT I 6T & R I Tl A SIS 31 G 70 HRAAN [l SRuE fy=1-7r 8 e, @ 59K} URWGRS Be S 3@ 31 321 gAR Waadl
Pl FSU BT YA H4 3G & g ¥ g6 Ul Iadl & & urd-iere § WEn HRd U6 € ORplas G | g o, faeg oraiie gefaar & SR el fdadr 3 59 TR enfe wifua &= fomn g1
fae=h wfel 7 gt G oiR Ul &1 e A1 R fora, o gart srnsit wdh enfifes il 1 ofR-4iX uem 89 1 g Iedta wohaT S Tan @l SMaRaddl 3, adl 81 ST, T e eE’ 3t
Pl TS 39 I P Gel AT FR FHA 86— “URT B b & 8, el Af, Miverrl, afdd, Teart ok wel § ikl wg-aif&ia g1

TS A B ACTT Tehell Bl Ja ST VR MHaIE T 31 Adparg 7 Fadd gUR, sfews ool f3wa o g 31 scdwmaiedl gR1 H3 gws ol H=imr sHmn s 8, o st &1 3 st el 3
e AR P T SHHarg B & g1 ed < ot § 39 idEdrs 3 3% F 5% Il § R i) ugars 81 Ik T # 91w s Uikl & Sed o emia of e gl

Q.No: 21 e & ‘e’ 1 A usg a7 €7

A EIFICY

B SR

C E

D Kt

Correct Ans : A

Subject : Hindi Bhasha 01
Passage:

A Y 3T U TR B UgeR I@ T Ul & Hed IR ok ak [P T 997 ifie-

B V-5 SRITTSd gY, B M1 d AUeiiD WU H ST BiHd ghrHl Uell TAR [ERT ¥ Se-oe Gkl 31, S0 A SIS §UI BHA wie Pt T RERT & S T Hiel, B4 B € g8, gu faeeh
A ool €1 TN A I T v i 3R il 9 offe uRdig It uhar I F GRE Sal off | SO I Ul IR1ad 3R TGS I BT YRR St ¥ I a1 31 akad §—
¢ % AT geal A RER T, 31 T UIEAR ST S Il

URA B BE yril Td Siadl &b T 35 €, T W6-U8 Ud STRT H SR 1 & €1, T1Y € S MIoT 2t Sferl-3(er €1 37 9 alavlg §X HRAGS & 9T HRAadl @1 o Hiae § 3iid-id W84 €, 59
I Tl B fagaR T Walard ISTER0T gl Sff Uehall ¢ | ATl ‘SR’ A Sgl “WRA B! THal alT I I i $arel R 98! g gs 817

I P AR T AT YR AR T8 g F 381 F R I Tohal WY MA@ 21 I g9 YRAdRR el sRuae fB5=1-ir €1 e, 6 50K URERS T 31 ST R &% SN Sad-adr
DI TSI DI TN B 35T F g I &8 Ul Il ¢ b TR & 9dT HRd TP 31 GRpiad 93 7 o< o, fieg o<l gaadr & SR faexi wfeadi 3 g0 R o1y w1t & fomn 33
et wifcml 1 3uRt v SR IWia @1 T &A1 TF o, o gart smemsit wd enfifes it 31 $R-¢R uam g1 @ g3 Il Uharl sran Tan 3 saaad §, 9 89 S T uHIewE’ 3t
Pl TS 39 90 DI Gel A B FHd g— "R B bl o §, SRl A, Mverert, Afeel, TEert R wel # wnfgef wg-if&w g1

TS AT Y AT Tehell ) e T3T WeRT GG W 31 Adhalg 7 Fad g9R), sfcwr wrgef g o0 g 31 sdwafedl gR1 w4t g ol i 7w < 3, @) st 3w 31 et Ryl 3
1S HIIR P T SHiBarG B Q) 2T 81 Red < a3l ¥ 39 Sikiddre 3 3 F B3 Il F R afd ugars 81 el vwdr A wiud s WfdE! A g o e of e R

Q.No: 22 = § § ‘Hopar & B-W G- B 2

A oy 9y
B o7 Y
c qfS |
D e |

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

= Y 13U Y TR BT U@ P TN URAT & WeY Sfd SR aK fadbed &1 99 Hifeie-

g WE-99 SHT3d gY, e i a Ieifae wu A 3UdT Sind IHF Ul gAR faaRt § Se-ow difar o, now A 1S gul g Wi Fut A fEr & eiuer g HieT, B8 e & g3, &w fadsh
A F ool ST A 91 L v i 3R i T ofge uRdg It tehar I & RM wet o | Tad I Uhdl IRIEd ok 9GS I 31 SMURRIET St ¥1 I8 Taar $1 arad §—
IS & AT Ul 7 TRER Thd, 7 T IR BT BIIH &l

URd & F 4 T il S T 64 8, TS 367-96 UF o1 H R A1 § &, T & St Wi off Sra-srenT §1 3 99% S1aug R YRATY & I YRAar B 5 Hi § ofia-Hid Y8 €, 39
IS Tpell 1 TR 7 ol IETGRU Pel S el &1 sty ‘SR’ gl “HRd BT Uebell G Il G Bl el R e! g g5 817

G B <IN Ao T YoTaRAT SR TMeX GT I 6T & Y I Thal IRA SIS 31 IS 7 HRAAN el SRUE f51-R 8 71T, @ 59K TRERS e 31 3@ 30 3 gAN Waadl
P ST B TN $1| 3G & 312 4 gH Ol Iodl § b UeiFeta 3 WiEl HRA U6 & Giplae G 7 ofds o, fooeg o<k gaaar & PR e wfeadl ¥ 80 R snfioe wifia &= form 3
fae=f wfdrml 7 gt e oiR UEHla Bl e A1 3 fova, O gart srensit ud enfifes gl o1 eR-4R g 9 @ &3 Il Uedr W @R 3 saxasddr 3, 9t 89 VST, T U 3
HE TS 39 I B el WIS PR FHd §— “HRA oY el I 8, el A, ke, afd, TRt ok wet & wfvigef ws-eifk@ g1

TS A B AT Uehdll Bl Jad §3T WeRT 3MAhalE V 31 Adpalg 7 Had suR), sfeer Tyl 3za 3w 31 cdwpaiedl gR1 $3 s ol Amr 3w et 8, @) S 2w &) st et 3
TS HRAR P THT SHibare B gt &7 81 NBa < el § 39 sddalg 7 & & F3 Il B R i3 Ugars g1 IH Uadl § 91U s feaal § srermd 3 o off o 81

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 5/49
Page - 5



Q.No: 23 7 % ¥ "WRAIR}Y Weg & ST 1 I 82

A Ecguic)
B oy WA
C FHURY T
D TS TR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

331 T BT Ugdx U T U & Fe IRd I&R I ey &1 79 Pifie-
g oR Tg @I,

FeHl SR, Fel SV, THM?
Ty e & ¢ 3 1w

T 3 381 Al

# o o offem A

T 3UR HHU HT UR

FY v Jura gHh
ITh1 98 8 UR|

TG WAl 37! gd-ua

3@ <@ § Sl SR

R forg wgd ot Haa

FTH1 Al HHUN Bl BRI

Q.No: 24 f= & § Iwdad ufdadl & @R &1 9 saRu-
A FUITFAR FeH

B = TEg
C et =R gt
D werd At

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

=1 BT Y T I T U F G SRId IR a1 faded 31 9a Pifor-
frg ok 7g 7@,

I 3MER, FA1 HOUT, THA?
Ty T A & T s

T 3 o) mfowFL

F oo 3 affera

T SUR TN BT 4R

F vy dura g
I51 98 WG SR

TG WA 3Teh! Gel-0ed

3@ T E S SR

R forg wga ot Faw

IAB! A HIUM Bl BRI

Q.No: 25 {31 & § wfomr &1 arf @ 82

A ST
B [
C e
D o

Correct Ans : C

Subject : Hindi Bhasha 01
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Passage:

R T B UgaR g T IR & e IFId IR I ey &1 797 Fiforg-
fobg ok 15 @,

T 3MTER, FA-T HOUT, FHI?
wyH B H § S Srer

A g 3T HiaHr!

A oo ol sifera

T UR HHU HT HR

HY e Jura wH
1 98 WS SR

TG WG 37! Tel-Ued

39 @ § St SR

R g sga R Faa

IS! A FPU1 B BRI

Q.No: 26 3 § ¥ PH-T7 Usg HIUN BT Taigar gt 82

A FaRdl

B <

c gz
D EREC T

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

FEw: ST B UgaR YP T TR & e IR IR a1 fided $1 799 -
fibg 3R Tg =@,

AN IR, Tl B, JHAF?
T 2P H E S ST

A g3 3E) HfaAr!

# 3o 3 sffaw

T UR HHU BT HR

FY e Jora vl
TP IE W SUR|

TG ARl D! - TR

2 3§ aFll 3R

R g wga ot pad

IB1 dl PoUT Bl BRI

Q.No: 27 3 R I% BI W | e | e § A BI-91 B¢ &1a1 82

A pusimEr

B Taar

C Erc

D R T AT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

1w S BT TR Y T U & UG SFId IR a1d faded $1 99 Pifor-
fobq oR wg

T IR, AT SO0, FHM?

Ty 2§ T S

T 3 3781 HiaHF!
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# 3o 3 offaw &

T UR HHU BT HR
B v JuT THT
I I8 WY SR

G el I7H! Id-ud
2 < § oeFlt ok

R fog wgd ot Faw
IB! dl PN B BRI

Q.No: 28 {1 7 J forw zr=g o1 Wit Sudera wifdall 7 ~Te¥ foam T &2

o

A EIES)

B picy
C R
D G

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

1w B ST TgHR Y T U & UG SFId IR a1d faded $1 99 Bifor-
g oR Tg @I,

T IR, AT SO0, FHM?
v P H § & ST

T 3 378 A

H oo 3 Sffea A

T IUR HHU HT UR

FY v Jure gHh
TP € WE SUR|

TG WAl D! ga-ud

3@ <@ § Sl SR

I g wgd off Faw

JAHI I BN B BRI

Q.No: 29 f=fifed & ¥ frg weg & Iuw &1 il &Y fomar ran @2
A TR

B ST
c [Fead
D SR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

321 T P Ugds I T UL & Y IRd I&R I fevey &1 797 FIRe-
fobg ot 7,

Tl SR, Felit HI0, THM?
v ¥ & € 2 1w

T g3 3@ mfowr

F o 3 offaa

T 3UR HBUN BT UR

FY v Jura g
IT1 98 Hg ORI

TRG WA Sieb! Tal-ael

3@ 3@ § St SR

R g wga ot dad

IT1 Al HRUN B BRI
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Q.No: 30 T[GTRT “3IR T SR & SIF1" T T 31ef &2

A ¢ B BT
B P TR R AT
c g o A1 X, e sad S
D Saf® &

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 31

2461494 TFind the sum

47 77
2 ondZ
87 87

T FT IdT T ?
7N 77
87 87

124
87

124
87

Correct Ans : A
Subject : Mathematics

Q.No: 32 In a school, there are 360 students out of which two-third are girls and rest are boys three-fourth of the number of boys are players. The number of boys who are not
2461504 pjayer are:

TF Tpd #, 360 B § o I 31-fogTs dsfeat § ok 29 5% § e I dR-du asd st §1 dsat ot Sem S faard A9 §:

25
A

25

30
B

30

20
C

20

15
D

i5

Correct Ans : B

Subject : Mathematics

Q.No: 33 Whatis 40% of 807
2461506

80 P140% 1 F?
A 32
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32

34
B

34

33
c

33

36
D

36

Correct Ans : A
Subject : Mathematics

(224,\‘601:53047 In a class of 50 students, 40% are girls. Find the number of girls and number of boys in the class?

50 BT P U BETH 40% TASHTl ¢ | BT H AS(hal bl TS AR dSH| & T I
BHifeiH?

Boys 20 : Girls 30

A
TSH 20 : AS[HAT 30
Boys 40 : Girls 10
B
TSH 40 : IS[HAT 10
Boys 25 : Girls 25
C
ASH 25 : TSPl 25
Boys 30: Girls 20
D

TSS 30 : TSP 20
Correct Ans : A

Subject : Mathematics

Q.No: 35 I final exam of class IX there are 50 students 10% students failed. Howmany students passed to
2461508 class X?

BT IX B 2ATH TRIETH 50 BT, 10% S ATV G | H&fM X H e faemadt g goo

50
A

50

45
B

45

40
C

40

55
D

55

Correct Ans : B
Subject : Mathematics

Q.No: 36 vy . ., ipe ) 1093
2461500 ‘hatis the new numberif increase the number 400 by 10%?
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AT 400 H 10% Bl ghg HA RS TSN HTG?

360
A

360

440
B

440

540
o

540

460
D

460

Correct Ans : B
Subject : Mathematics

(222\1601:53170 An alloy contains 26% of copper. What quantity of alloyis required to get 260 g of copper?

U T H 269 A< I § | 260 UTH el WK B o (o1 fobe=il A | iy arg i
LD B 82

1200g

12009
1000g

1000g

800g

800g
15009

15009
Correct Ans : B

Subject : Mathematics

Q.No: 38 43 0 0f250+25 % of 420
2461511

210
A

210

120
B

120

220
C

220

200
D

200

Correct Ans : A
Subject : Mathematics

Q.No: 39 Express decimal into percentage 10.1?
2461512
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TRMAd $ G 10.1 F o5 $Y2

100%
A

100%

110%
B

110%

101%
C

101%

1010%
D

1010%

Correct Ans : D

Subject : Mathematics

Q.No: 40 Which anyone the given number is divisible by 3 but not by 9?7

2461540

P G & T e 3 9 Ay € 3 9 § e

34218
A

34218

33318
B

33318

19233
c

19233

27213
D

27213

Correct Ans : D

Subject : Mathematics

Q.No: 41 Choose number which is divisible by 3,5 and 2 simultaneously.
2461541

Ig WS I Sl U W 3,5 97 2 § favr=a g

273525
A

273525

375225
B

375225

831240
Cc

831240

921320
D

921320

Correct Ans : C

Subject : Mathematics

Q.No: 42 is divisible by 13.
2461551
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133 fwy=md

41305
A

41305

68781
B

68781

65520
Cc

65520

43127
D

43127

Correct Ans : C

Subject : Mathematics

Q.No: 43 Which of the following is divisible by 8?

2461565
Fofifed 4 4 o1 8 4 favrsa g2
8561234
A
8561234
9828342
B
9828342
2345840
c
2345840
1689204
D
1689204

Correct Ans : C

Subject : Mathematics

Q.No: 44 Which of the following is divisible by 18?

2461566
Froffed 8§ $9 18 3 faursa 82
35892
A
35892
65212
B
65212
81074
c
81074
50187
D
50187

Correct Ans : A

Subject : Mathematics

Q.No: 45 Which of the following is divisible by 6?
2461582

fofafea # 9 o 6 ¥ faursa g2
72662118
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72662118
981562617

981562617
87645789

87645789
34278900

34278900
Correct Ans : D

Subject : Mathematics

Q.No: 46 Which of the following is divisible by 13?

2461583
frofafea 8§ 4 $9 13 3 faursa &2
43267
A
43267
35678
B
35678
98565
o
98565
392613
D
392613

Correct Ans : D

Subject : Mathematics

Q.No: 47 Find the largest fraction of the following fractions?
2461605

Frafefad e § & wed s i 31d $ifee?

33

100

33
100

44
120

44
120

58
148

58
148

35
80

Correct Ans : D

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/49
Page - 14



Q.No: 48 Find the smallest fraction of the following fractions?
2461606

Frafefad el § & ged S i 31d SiRe-

19

230

Correct Ans : C

Subject : Mathematics

Q.No: 49 The volume of cube whose edge is 3a is?

2467559

T BT T T BRI 3a 22

3a®
A

3a®

27a’
B

27a°

9a3
Cc

9a’

6a°
D

6a?

Correct Ans : B

Subject : Mathematics

Q.No: 50 The perimeter of a regular pentagon is 1550 m. How long is its each side?
2467571

o fYafia days &1 ufmM 1550 W 31 39 vde ye fea delt 82

310 m
A
310
150 m
B
150 7
o 100 m
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100 #t
50 m

50 #
Correct Ans : A
Subject : Mathematics

Q.No: 51 The diagonal of a square is a cm. Which of the following represents the area of the square?
2467631

o ol @1 el te At §1 ek 4 @ $F ol & dawa o exia g2
2a

Sl v

Sl

Nln:;

N‘]nie

k)

&8

Correct Ans : C
Subject : Mathematics

Q.No: 52 A circular wire of radius 28 cm is bent to form a square, find out the ratio of area of the square to that of the circle.

2467632

28 Uit 1 & U9 ISR IR & US 9 a1 & o HIgT Sial 8, 9 & 895 &1 g0 & 9%d I SR T il

21:28
A

21:28

14: 15
B

14: 15

20:21
c

20:21

11:14
D

11:14

Correct Ans : D

Subject : Mathematics

Q.No: 53 Which one of the following is true about teaching and learning of Mathematics in Class I and II?
2468419

HeM 1 3R 11 F TIrT Rieror ofR oiftrm & foe Ffafaa & § oF-ar wd 82

Only oral Mathematics problems should be done in Class I and II.

Pe&T I R II 7 Faq 1M F AP well B! Ham o =il

B Mathematics should be intergrated with other subjects like language, art, etc.
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iR 1 o el O T 2w, wen seanfe ¥ wHreH far s aiRy

Mathematics should not be taught in Class I and II.

el I 3R 11 H T 1St Ygran W 91ty

Lots of opportunities for practice should be provided.

SN & T 9gd oifie SR SUd=d HRA TH TRT

Correct Ans : B

Subject : Mathematics

Q.No: 54 It is important to conduct mathematical recreational activities and challenging geometrical puzzles in the class as

2468420
e B TR THRSHIeTS frareany aut gl st ugfmt wah frarean Agaguf § Fife-
They bring students out of the monotonous and boring routines of mathematics classroom.
A
3 e & STt I e BT T T &R T F FRUTEN a1l B TeR AW B
They give space to gifted learners.
B
F iRt et SR srawR v FRA 1
They are helpful to enhance spatial and analytical ability of every learner.
Cc
3 vl Rigrdf 9t wifie 7 Rxdvores dvdd F YasE 3 s §1
They can create interest in low achievers and slow learners in mathematics.
D

J T & 0 pa e qur g vy ¥ R ar ekl # 3 Iad Fe # 9eEe e g

Correct Ans : C

Subject : Mathematics

Q.No: 55 Which of the following part of Geometry is taught in primary classes?
2468439
(I) Formal Geometry

(11) Informal Geometry

FProfoie # 3 urzadt Hensil & YQmE & SS™E B HH-91 I Uedl Sl 82
(1) o= XErfi

(11) e Yama

Only I

Faa I
Only II

Faa II
Both I and II

1 3R 11 SN

Neither I nor II

ARIARTG 11

Correct Ans : B

Subject : Mathematics

Q.No: 56 A teacher is trying to promote a sense of community and participation in a math classroom; he/she should not:

2468440
T Rierd T Fa § Yger SiR UFERT S LTI ST dg1aT o 31 SRR IR I 8; I T DT AT
A Encourage students to process one another’s idea
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TH-gW & FER 3 G0 39 F g 36 91 fefd s

Provide connected tasks with multiple levels

B

o W & WY S FHE TTH

Provide strategy for the solution of the problem to start with.
C

[E T P AT T4 B 5 $3A o UG TG DT

Divide the class into small groups for problem-solving.
D

¥-39 & fau Fam Bt Sie gl 7 e s

Correct Ans : C
Subject : Mathematics

Q.No: 57 Lack of interest and motivation among students for math curriculum is a result of reasons below except:
2468464

I. The predominance of symbolic language

II. In-depth understanding

III. Priority to procedures and memorisation of formulae

TR UTeTEH & T BET ¥ ¥ SR IR $t Fft 31 SSaR A AU U SR F1 T aium §:
L. UCIBTHeD HINT ) UETTdl

I1. RIS & a9

II1. wfansii 3 wrafiiearn SR i &1 wRo

I

II

II

II & III

II 3R 111
I&III

1 3R 111

Correct Ans : B

Subject : Mathematics

Q.No: 58 Which one of these statements is not correct regarding remedial teaching:

2468465
STIRIGS RI&01 & Gae 7 378 § S ° $U Tl Tl &
Is same as special education
A
A e & ¥ §
Offers one on one attention to students
B
W B W &AM &
Is not only meant for students with special needs
€
o Yy ol o & RS TR
Is for students lagging behind than their peers
D

I oH & R § &t o TR S gem A fes W E

Correct Ans : A
Subject : Mathematics

Q.No: 59
2468466
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An open device used by the teacher to record behaviour, factual description of the incident and help to understand pupils realistically. Which of these are we referring
to:

TRref GRT SIIER, el F TS f9avvl Bl RprS Fe ol el &) arafas ¥ & awem § Ueg oA & o IudiT a1 S arell e Ger Suavl| 80 379 8 iRl i m R &

Rating scale

A
e @a
Observation
B
el
Checklist
C
TBRRE
None of the given options
D

fag  Reedt & & 31 761

Correct Ans : D

Subject : Mathematics

Q.No: 60 Whatever the details of treatment for exceptional children, our main task should be to help a particular child in becoming-

2468494
SRAIURY g $ oy IuaR & faaxvr St ff &), sART g o] ol fodw s 1 &7 9 el e g1 =y
Physically fit
A
RIS TR F we
Emotionally stable
B
HIFT® ¥ 9 RR
Economically independent
C
e & & @
Adequately adjust to his environment
D

ST TEiaRY & R waie w9 ¥ S
Correct Ans : D
Subject : Mathematics

Q.No: 61 Which of the following is not coming under the broad themes of EVS?
2469327

Profefed § 4 H1F $dig (Evs) & e fawdl & siavfa 1 ofrar 372

Family and Relatives

A
IRER SR REdeR
Plants
B
o
Shelter
C
S
Things we make and do
D

AN E IR B E

Correct Ans : B

Subject : Environmental Study

Q.No: 62 Environmental studies is defined as :
2469328
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UGTaRY e HY uRyIfNG fasar mar §:

A multi-disciplinary academic field which systematically studies human interaction with the environment

A
T 95-Rwas Jefe &7 S wiRur & W T & TR 31 e T Y e T 8
Study and discovery of new environment phenomenon
B
% wafaror geT 37 St SR Wt
Study of social, biological and physical science
c
e, S iR e Ram o1 serA
Incorporate science and social science
D

wfifa w1 & e iR wmfe e
Correct Ans : A
Subject : Environmental Study

Q.No: 63 A non-climatic factor is:

2469347
% IR-9TAY FRS 8-
Pressure
A
<9q
Humidity
B
skl
Moisture
C
-h
Land degradation
D

off¥y S@HH
Correct Ans : D

Subject : Environmental Study

Q.No: 64 Which of the following activity is correct about the impact of human activities on the ecosystem?
2469348

ifufe® W AFdE A & gy & ek J Fafiied § 3 oF @ Tl w6 8

Depletion of ground water

A
YoTd D1 g
Increasing soil fertility
B
gt it g s
Increase of forest area
c
91 &7 7 gf T
Reduced Pollution
D

UGHU HH AT
Correct Ans : D
Subject : Environmental Study

Q.No: 65 By which of the following, atmosphere consists of 79 percent Nitrogen and 21 percent Oxygen?
2469381

FProfefed 4 9 5 oFER, agrisa & 79 Ui TRgeH SR 21 v siwier 82

A Volume
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Weight
B

YR

Density
c

Ta

Velocity
D

Eul

Correct Ans : A

Subject : Environmental Study

Q.No: 66 Which of the following is not a forest service?

2469382
Fafifed & & T s &1 o T 82
Reduces the surface run-off rainwater
A
T & I o & UATE B HH FA
Prevents soil erosion
B
fogt & e 31 I
Regulate the local temperature
C
R A 1 A SR
Reduce noise pollution
D

@l Tguu HH HET
Correct Ans : D

Subject : Environmental Study

Q.No: 67 Which one of the following is not a gaseous biogeochemical cycle?

2469383
fafifed & § 9 te 1w S9-y-wEiE 96 1 82
Water cycle
A
Sl °H
Carbon cycle
B
P T
Phosphorus cycle
C
BRERY T
Oxygen cycle
D

siffiert I
Correct Ans : C

Subject : Environmental Study

Q.No: 68 The Changpa - a tribe living on the mountains live in cone shaped tent which is woven with Yak hairs and stitched together and tied with nine sticks. Then the tent is
2470520 put up by digging the ground to about 2 feet deep. What is their tent called?

T - URTEI TR A JIel U SHefd [P & PR F g & Wt ¥ Rl a1e & a1ei I g1 o1t § 3R e Ty Ryerm e @ ofR A S @ wien S §1 AR 9 2 wie el ol diger
e I ST €1 P av B T Hel al 82

A Rebo
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ar

Changthang
B

S —

Tashi
C

arit

Jule
D

E

Correct Ans : A

Subject : Environmental Study

Q.No: 69 The Changpa keep their sheep and goat near their tent, the place is called as

2470521
T ST HS-a] 1 30 S B U WA 8, 96 WM gl o
Shed
A
BIR
Donga
B
it
Lekha
Cc
|
Sheeka
D
Eical

Correct Ans : C

Subject : Environmental Study

Q.No: 70 In Srinagar many families live in a boat which form inside is just like a house with different rooms, mainly seen in Dal Lake and Jhelum River.
2470522

TR B 5 URR UF 719 F 360 § S 3fEX Y SIeHT-37e HIRT 91 TR B @RE 8, 5 Gorey § sasiia ok San 7 § 331 9 g1

Boathouse
A

gy

Donga
B

et

Khatamband
C

g

Talabghar
D

TSRt

Correct Ans : B

Subject : Environmental Study

Q.No: 71 Any space that requires conservation and preservation for historical and architectural or cultural is known as?
2470628

315 M = s o e iR wIUG o1 TRplad & WRewT Bt STagdHd g 8, F9T Hedm 87

Heritage Precincts

foRTea ufeR

B arcuate
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IR

Corbelled
c

PRIE

Inclined heritage
D

T& o
Correct Ans : A

Subject : Environmental Study

Q.No: 72 What is the full form of (INTACH) regarding awareness of heritage?

2470629

oRTHG % U SRewdr & Iae & (INTACH) &1 90f =9 @1 87

Indian National Trust for Art and Cultural Heritage
A

Far 3R Wiephie fAewa $ R yRda i <

Indian National Trust for Art and cooperative heritage
B

Fel IR FeHR fRred & g wRedra e =

Indian National Trust for architectural and calligraphic heritage
C

RITE 3R gorg farraa & e e g

Indian National Trust for archaeological cumulative heritage
D

Rt St R & R yrdta e =
Correct Ans : A

Subject : Environmental Study

Q.No: 73 Which programme and when did the Government of India introduced an objective of improving the quality of life of the rural people and also to provide privacy and
2470699 (ignity to women?

YR WEHR A YA Tl & Siia- B I[oral H YR IH IR Afgarsll S MU-dr $iR FHH UeH S & 339 § $H 91 SRieH IR $d T fobar U1

Central Rural Sanitation Programme (CRSP) in 1986

A
1986 H iy anfivr wwa FrRieH (HeRuud)
National Women Health and Sanitization (NWHS) in 1987
B
1987 & T uften Wy SR Wl (TesgUaTy)
Total Sanitation Campaign Programme (TSCP) in 1990
C
1990 ¥ WYUf w3l M BRIGH (TSCP)
National Rural Development and Sanitation Programme (NRDSP) in 1988
D

1988 ¥ g Fmivr R iR o=@ FEHH (NRDSP)

Correct Ans : A

Subject : Environmental Study

Q.No: 74  When did The Prime Minister of India launched the Swachh Bharat Mission on

2470700
URT & UM HA 7 W YRd FIRF o9 g& far o
1st January, 2014
A
1 SR 2014
2nd October, 2014.
B
2 IFTER 2014
G 24th November, 2014
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24 4R 2014
15th April, 2014

15 3@, 2014
Correct Ans : B

Subject : Environmental Study

Q.No: 75 In which year was INCOSPAR set up by the Government of India?
2473863

YR WHR ERT FHIUR INCOSPAR) &t wIIeT a1 af &1 715 o2

1953
A

1953

1957
B

1957

1960
C

1960

1962
D

1962

Correct Ans : D

Subject : Environmental Study

Q.No: 76 What is the full-form of TERLS that was set-up by the predecessor organisation of ISRO?
2473864

T (A.3.9R.UA.TE. O TERLS) &1 gUf T 71 3 RO 3930 & ydaddf e gRT wiifia fasar mar ar

Thiruvananthapuram Equatorial Rocket Launching Station

A
featagRe Sheiaa e wif=T I
Thumba Equatorial Rocket Launching Station
B
¥ SHEINET e AT WA
Two-Engine Rocket Launching System
C
-39 e At Riken
Three-Engine Rocket Launching System
D

-39 b it Rew
Correct Ans : B

Subject : Environmental Study

Q.No: 77 Which of the following space/aerospace agenciesis NOT correctly matched with its country?
2473865

At 7 & sla T 3TaRaT/TaReas Tl 319e &2 & |ry Tl gAfard o161 67

CNSA - China

W.T1.T9.T. (CNSA) - IF

DLR Space Administration - Denmark

B
E.Td.3R. (DLR) 3fafke TR - STHIS
CNES - France
c
H.¢1.4.19. (CNES) - B
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 24/49

Page - 24



D LAPAN - Indonesia

AU (LAPAN) - SSRRRT
Correct Ans : B

Subject : Environmental Study

Q.No: 78 What was the launch mass of India’s first-ever satellite Aryabhata?

2473886

HRA P U SUUR SMTIHE BT U SAH HIT UT?

240 kg
A

240 fHar

300 kg
B

300 fHar

360 kg
c

360 fHar

400 kg
D

400 fat

Correct Ans : C

Subject : Environmental Study

Q.No: 79 In which year was the world’s first-ever artificial satellite successfully launched?

2473887

gt &1 Uge HRH IUvE 59 9 arhaargde uaftd famar ma ur

1954
A

1954

1957
B

1957

1960
c

1960

1963
D

1963

Correct Ans : B

Subject : Environmental Study

Q.No: 80 The orbital life of India’s first-ever satellite Aryabhata was -

2473888
HRA $ UG SUUR SMTIHE BT Hefg Siia of -
a little more than seventeen years.
A
e I ¥ UisT S|
a little less than seventeen years.
B
TG 99 9 et v
a little less than eighteen years.
c
3ERE I | 9T FHI
D a little more than eighteen years.
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3BRE IIF q 4T il
Correct Ans : B

Subject : Environmental Study

Q.No: 81 In which year was SLV-3 (Satellite Launch Vehicle-3) successfully launched?

2473889
9.7 d.-3 1 SLV-3 (Jearge W Fihd-3) B 59 a8 Shadgds vafd fan mr ur
1977
A
1977
1980
B
1980
1984
c
1984
1987
D
1987

Correct Ans : B

Subject : Environmental Study

Q.No: 82 Which of the following satellites was launched by the first ever successful launch of SLV-3 (Satellite Launch Vehicle-3)?
2473890

Foffad # A S 1 ST SLV-3 A1 00,0 d).-3 (FReize dia Siod -3) & UYH AHd TS gRT UaRd e mr g2
Rohini Satellite-2

A
Aol Heame-2
CARTOSAT-1

B
PRNE -1
CARTOSAT-2

C
PRNE -2
Rohini Satellite-3

D

Afgolt Feame-3
Correct Ans : D

Subject : Environmental Study

Q.No: 83  Which of the following satellites failed to reach the orbit?

2473891
Fofafad § ¥ S W1 I Ham § uge & wa @1
SROSS-1
A
TH. 3R, 3. 09091
SLV-3D1
B
TH.qa.d 3381
SROSS-C2
c
TH.3R. 3. T9.09. -2
NIUSAT
D

.o guEed. (Fede)
Correct Ans : A

Subject : Environmental Study
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Q.No: 84 Consider the following satellites of ISRO -
2474165

1. Rohini Satellite RS-D2

2. Rohini Satellite RS-1

3. Rohini Technology Payload (RTP)

Which of the following missions were successful?

TR & Fafafad SwEl W faur o -

1. gl IUUE SMR.TH.-S12

2. gl IUUE SR.TH.-1

3. Aol Feifiat ddis @fel 2aialsh dds) (sm.édt.)

Fofarea # 9 oF 1 e 9wa @
Only 1 and 2

Fad 1 3R 2
Only 2 and 3

Fa@2 eiR 3
Only 1 and 3

Pad 13k 3

1,2and3

1,29k 3

Correct Ans : A

Subject : Environmental Study

Q.No: 85 Consider the following spacecrafts of ISRO -
2474166

1. Chandrayaan-1

2. Mars Orbiter Spacecraft

Which of the above was launched using a PSLV (Polar Satellite Launch Vehicle)?

T F Pufiaa siaRer a9 W AR & -

1. 95g9M-1

2. A Sfffdex Wrasmbae

IRiTd B 9 58 dhgw.vad. (der Searse i D a1 ydd IuE WHEs Ide) ST UGN FRP did T T AT

Only 1
A

Faaa

Only 2
B

Fad 2

Both 1 and 2
C

FHf 1 3R 2

Neither 1 nor 2
D

AR LRTR 2

Correct Ans : C

Subject : Environmental Study

Q.No: 86 Which of the following is a work of the NewSpace India Limited (NSIL)?
2474167

1. To build satellites

2. To provide launching services for satellites belonging to customers

3. Facilitate satellite building through Indian industries.
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 27149
Page - 27



Choose the correct code out of the following -

Fofarea 7§ ¥ oF W 3iear faffies (NSIL) &1 o1 §?
1. S (HCae) &

2. el I Hala Swrel & g =i e oM S
3. URdIg IR & Ty F Iuvg FHREmn & g S E
frffed & § 9t ge 9f -

Only 1 and 2

Faq 1 3R 2
Only 2 and 3

Faa2 3R 3
Only 1 and 3

Pad 1 3R 3
1,2and 3

1,29R3

Correct Ans : D

Subject : Environmental Study

Q.No: 87 What teacher should ensure during small group discussion?
2477264
1. Every discussion should be goal oriented
2. Children have sufficient information about the topic in order to participate actively in the discussion

3. No viewpoint or opinion is disrespected or laughed at

Bie WigE W R 7= & IRE e 31 1 AT s Tfge

1. T 9491 qedmE EF =it

2. 7 § Wiy TU F UFT 4 & o s & U fawa & IR § vafa sHet §
3. fad +ft =Reiur a1 Hd @1 AR A1 SUBT TRl BT

only 1 and 2
A

Faa 1 R 2

only 2 and 3
B

Fag 29k 3

only1and3
C

Faa1 R 3

1,2and 3
D

1,23R3

Correct Ans : D

Subject : Environmental Study

Q.No: 88 Many students enjoy small group discussion because:
2477266

1.it is peer based communication

2.it is interactive

3.it encourages active participation of learners

%5 O Bic R 91 BT Mg Ad § FiP:

1.98 FebH! Sneikd R &

2.399 or: fpang Bl ®

3.7 Rienffdt ot fpa wrllerd 3 defRd o=ar @

Aanlhv 1 and 2
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Viny & wrra e

Faa1 R 2
only 2 and 3

Fad 2 3R 3
only 1 and 3

Paa 18R 3
1,2and 3

1,23R3

Correct Ans : D

Subject : Environmental Study

Q.No: 89  Skills that students develop through small group discussion:
2477268
1.analytical

2.communication

I ol B B IR 74t & Wew | RAHRig B §:
1. facmoners

2.89R

only 1

Fad 1
only 2

Fad 2
both 1 and 2

el 1 8k 2

neither 1 nor 2

a1 eRA®2

Correct Ans : C

Subject : Environmental Study

Q.No: 90 Which of the following is NOT the advantage of observation method of teaching learning EVS?
2477270

Fofaraa § ¥ oF a1 Sdvg Riemr oftrm 3t sadied gsfa &1 ary T 82

Satisfies students

A
BTl B UgE FRal §
Develops writing skills
B
A P R B &
Develops curiosity of the students
C
BTt 3t e R Fva @
Encourage children to explore their environment
D

T B ST iR BT Uar A R Mewited sRar g

Correct Ans : B

Subject : Environmental Study

Passage:
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Direction: Read the given poem and answer the question given below accordingly.
Take this kiss upon the brow!
And, in parting from you now,
Thus much let me avow —

You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?

All that we see or seem

Is but a dream within a dream.
1 stand amid the roar

Of a surf-tormented shore,

And I hold within my hand
Grains of the golden sand —
How few! yet how they creep
Through my fingers to the deep,
While I weep — while I weep!

O God! Can I not grasp

Them with a tighter clasp?

O God! can I not save

One from the pitiless wave?

Is all that we see or seem

But a dream within a dream?

Q.No: 91 Which of the following is the most suitable title for the given poem?

A Dream and Nightmare

B Tragedy of a Dream

C A Dream Within a Dream
D Dream of one’s life

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Take this kiss upon the brow!
And, in parting from you now,
Thus much let me avow —

You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?

All that we see or seem

Is but a dream within a dream.

1 stand amid the roar

Of a surf-tormented shore,

And I hold within my hand

Grains of the golden sand —

How few! yet how they creep

Through my fingers to the deep,
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While I weep — while I weep!
O God! Can I not grasp
Them with a tighter clasp?

O God! can I not save

One from the pitiless wave?
Is all that we see or seem

But a dream within a dream?

Q.No: 92 “Is it therefore the less gone?’ What does the speaker talk about here in the given line?

A the wants to control his thoughts

B the speaker talks about hope, going away and being without hope
C the speaker wants to control his desires

D the speaker wants to feel happy about his life

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Take this kiss upon the brow!
And, in parting from you now,
Thus much let me avow —

You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?

All that we see or seem

Is but a dream within a dream.
I stand amid the roar

Of a surf-tormented shore,

And I hold within my hand
Grains of the golden sand —
How few! yet how they creep
Through my fingers to the deep,
While I weep — while I weep!

O God! Can I not grasp

Them with a tighter clasp?

O God! can I not save

One from the pitiless wave?

Is all that we see or seem

But a dream within a dream?

Q.No: 93 ‘0 God! Can I not grasp them with a tighter clasp?’ The speaker talks about grasping something, what is it?

A grasping the desire of being lonely

B grasping the feelings of being away from his family
C grasping the image/jpgs of his old dreams

D grasping the grains of the golden sand

Correct Ans : D

Subject : English Language 02

Passage:
Direction: Read the given poem and answer the question given below accordingly.

Take this kiss upon the brow!
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And, in parting from you now,
Thus much let me avow —

You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?
All that we see or seem

Is but a dream within a dream.
1 stand amid the roar

Of a surf-tormented shore,
And I hold within my hand
Grains of the golden sand —
How few! yet how they creep
Through my fingers to the deep,
While I weep — while I weep!
O God! Can I not grasp

Them with a tighter clasp?

O God! can I not save

One from the pitiless wave?

Is all that we see or seem

But a dream within a dream?

Q.No: 94 Which of the following is similar in meaning to the word ‘torment’ in the given poem?

A assist

B agony

C commend
D comfort

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Take this kiss upon the brow!
And, in parting from you now,
Thus much let me avow —

You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?

All that we see or seem

Is but a dream within a dream.
1 stand amid the roar

Of a surf-tormented shore,

And I hold within my hand
Grains of the golden sand —
How few! yet how they creep
Through my fingers to the deep,
While I weep — while I weep!

O God! Can I not grasp
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Them with a tighter clasp?
O God! can I not save

One from the pitiless wave?
Is all that we see or seem

But a dream within a dream?

Q.No: 95 ‘Take this kiss upon the brow’. Where does the speaker talk about kissing someone?

A on the forehead
B on the lips

C on the cheeks

D on the nose

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Take this kiss upon the brow!
And, in parting from you now,
Thus much let me avow —

You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?

All that we see or seem

Is but a dream within a dream.
I stand amid the roar

Of a surf-tormented shore,

And I hold within my hand
Grains of the golden sand —
How few! yet how they creep
Through my fingers to the deep,
While I weep — while I weep!

O God! Can I not grasp

Them with a tighter clasp?

O God! can I not save

One from the pitiless wave?

Is all that we see or seem

But a dream within a dream?

Q.No: 96 ‘I stand amid the roar’. Which part of speech is the word ‘amid’ in the given line?

A adjective

B adverb

C preposition
D conjunction

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Take this kiss upon the brow!
And, in parting from you now,
Thus much let me avow —
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You are not wrong, who deem
That my days have been a dream;
Yet if hope has flown away

In a night, or in a day,

In a vision, or in none,

Is it therefore the less gone?

All that we see or seem

Is but a dream within a dream.
I stand amid the roar

Of a surf-tormented shore,

And I hold within my hand
Grains of the golden sand —
How few! yet how they creep
Through my fingers to the deep,
While T weep — while I weep!

O God! Can I not grasp

Them with a tighter clasp?

O God! can I not save

One from the pitiless wave?

Is all that we see or seem

But a dream within a dream?

Q.No: 97 What does the word “pitiless’ mean in the given poem?

A brief and to the point

B lacking moral discipline

Cc cruel, severe and unpleasant

D effusively or insincerely emotional

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 98 According to the given passage Krishana was born in which of the following months of the Indian calendar?

A Bhadon

B Bhadrpad
C Chatra

D Shravan

Correct Ans : A
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
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Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 99 According to the given passage why Lord Krishana always feels colour complex?

A Because Krishana was born in dark night

B Because Krishana was dark-coloured

C Because Krishana had problems all over his life
D Because Radha was very beautiful and fair

Correct Ans : D
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 100 How did the author happen to know so much about Lord Sri Krishna?

A As a child he used to watch many shows on Sri Krishna

B Author’s father made him visit the Sri Krishna temple near their house every week
C Author’s mother had a small temple in their house

D All of the given options

Correct Ans : A
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 101 Which of the following statements is NOTcorrect according to the information given in the passage?

A Lord Krishna was born in a prison.

B Vasudev gave him to his friend Nand to save him.

C Lord Krishna is the most powerful incarnation of Lord Shiva.
D Sri Krishna was very fond of eating Makhan.

Correct Ans : C

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 102 “This is one of the most joyous celebrations’. Which of the following is opposite in meaning to the word “joyous’ in the given line of the passage?

A gloomy
B elated
Cc upbeat
D ecstatic

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 103 *The festival usually occurs in August’. Which of the following is nearest in meaning to the word ‘occur’ in the given line of the passage?

A precede
B hide

C annex
D arise

Correct Ans : D
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 104 ‘Radha was of great importance to Krishna. So he always spent time with her’. Which part of speech is the word ‘always’ in the given line?

A determiner
B adverb
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C prepousiuun

D adjective
Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The Hindus celebrate Janmashtami for the birth of Sri Krishna. The festival usually occurs in August. Moreover, the Hindus celebrate this festival in the Ashtami of Krishna Paksha.
Moreover, Lord Krishna is the most powerful incarnation of Lord Vishnu. It is a joyful festival for the Hindus. Furthermore, the Hindus perform different rituals to please Lord
Krishna. This is one of the most joyous celebrations for the Hindus. Janmashtami Lord Krishna Lord Krishna was born on the 8th day of Dark Fortnight in the month of Bhadon.
Bhadon is a month in the Hindu calendar. Moreover, he was born around 5,200 years ago. Because he was one of the most powerful Gods. He was born for a special purpose on
Earth. Lord Krishna was born to free the world from evil. As a result, he played an important role in the book of Mahabharata. Also, Lord Krishna preached about good karma and
the theory of Bhakti. Lord Krishna was born in a prison.

He was in the clutches of Kansa. But his father Vasudev gave him to his friend Nand to save him. Because he knew that Kansa was evil-minded. Furthermore after getting saved
the upbringing of Sri Krishna was in a Gokul family. Sri Krishna after some time became strong. As a result, he was able to kill Kansa. When I was a child I used to watch many
shows on Sri Krishna. As a result, I know many things about him. First of all, Sri Krishna was very fond of eating Makhan. Because of that he always used to steal it from his
mothers’ kitchen. Therefore his name was ‘Natkahat Nand Lal’. Sri Krishna was dark-coloured. So he was always worried about his colour. Moreover, Sri Krishna had a friend
named Radha. Radha was of great importance to Krishna. So he always spent time with her. Radha was very beautiful and fair so Lord Krishna always felt colour complex.

Q.No: 105 ‘Moreover, Sri Krishna had a friend named Radha’. Which part of speech is the word ‘moreover’ in the given line?

A adverb

B conjunction
C preposition
D adjective

Correct Ans : A

Subject : English Language 02

Q.No: 106 On what should a teacher mainly focus while designing a working activity for a language class?

A providing all necessary vocabulary required for the task
B giving clear instruction for the task

Cc choosing a topic from their surrounding

D assigning an authentic piece of writing task

Correct Ans : C

Subject : English Language 02

Q.No: 107 If some children do not have exposure to English outside the class, a teacher’s proficiency in spoken English is essential because —

A the students may listen to and process new language before they actually communicate in it
B the teacher can give more time to grammar drills

C the teacher can edit the errors in student’s learning process

D student can imitate, practice and drill the statements or sentences used by the teacher

Correct Ans : A

Subject : English Language 02

Q.No: 108 Which of the following skills is involved if notes are made using a flowchart or a web diagram?

A retrieving

B summarising
C storing

D gathering

Correct Ans : B

Subject : English Language 02

Q.No: 109 Instead of asking questions and getting answers form her learners, a teacher gives some short text and asks her learners to frame questions. What is the teacher’s
primary objective behind doing so?

to enhance the learners analytical and critical thinking

A

B to train the learners as good questions setters
C to take their help during the examination

D

all of the given options
Correct Ans : A
Subject : English Language 02
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Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I think it's quite that your parents still hold hands.
A recently
B mostly
C adorable
D careful

Correct Ans : C

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I wasn't even at all that he was ill.
A cruel
B broad
C brave
D aware
Correct Ans : D

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

His autobiography will be one of the most awaited books.
A cheerful
B deftly
C eagerly
D happy

Correct Ans : C

Subject : English Language 02

Q.No: 113 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Most people are completely about tide directions and weather conditions. They know nothing.
A useless
B thoughtful
C serious
D clueless

Correct Ans : D

Subject : English Language 02

Q.No: 114 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

To be with you, I don't think it will be possible for us to go there.
A insure
B assure
C honest
D false

Correct Ans : C

Subject : English Language 02

Q.No: 115 In the process of learning a language, what can be the first step?

A Listening

B Speaking

C Writing

D Knowledge
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Correct Ans : A
Subject : English Language 02

Q.No: 116 Which of the following forms the foundation for communicative competence in the language?

A Knowledge
B Speaking
C Writing

D Listening

Correct Ans : D

Subject : English Language 02

Q.No: 117 How a teacher can eradicate socio-psychological problems of the students?

A by motivating them

B by giving them some responsibility
C both of the given options

D None of the given options

Correct Ans : C
Subject : English Language 02

Q.No: 118 A learner is unable to use certain difficult rules of language and skips its usage. Such errors are known as

A Developmental error
B Induced error

C Avoidance error

D Interlingual Error

Correct Ans : C

Subject : English Language 02

Q.No: 119 Inferential Comprehension requires a reader to

A Study author's background and the era of writing
B Interpret and evaluate information within the text
Cc Understand the facts that lie in the text

D Preview and review the vocabulary and its usage

Correct Ans : B

Subject : English Language 02

Q.No: 120 15 order to improve spelling errors of students, a teacher should

A Create a spelling wall in the classroom
B Ask them to memorize spellings

C Use audio aids

D None of the above

Correct Ans : A
Subject : English Language 02

Q.No: 121 Gross motor skill is

2473531
R fpueTs Piea g -
Writing
A
R
Drawing
B
[Ecant
Walking
Cc
Eaoll
D Catching
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qHgl
Correct Ans : C

Subject : Child Developement

Q.No: 122 A definite sequence is found in development -
2473532

fawr & Py = ur S -

From head to legs
A

RR § uidt 7

From trunk to waist
B

S Y FIR 95

From waist to legs
C

PR Uil 7P

from legs to head
D

Tidi ¥ RR 7%
Correct Ans : A
Subject : Child Developement

Q.No: 123 Determinants of development is -
2473534

feom & Rue aa ® -
Health of parents
A
Al - e &1 e
Educational level of parents
B
At —firar 1 Daifdrs wR
Social relation of family
C
TRER T AP ey
Maturity and learning
D

uRuesar Td T
Correct Ans : D

Subject : Child Developement

Q.No: 124 Running and climbing is related to -
2473535

AT Td e Fafa J FEhE @ -

Motor development of legs
A

uidt % frareed PR

Motor development of hands
B

T 7 T PR

Motor development of trunk
C

Ug o1 s SR

Physical development
D

IR o™

Correct Ans : A
Subject : Child Developement
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Q.No: 125 Growth and development are......

2473537
e W R @ g T ... B
Interrelated and interdependent
A
Opposite
B
foda
Similar
C
A
Different
D
ST — T

Correct Ans : A

Subject : Child Developement

Q.No: 126 Embryo attached to which part of mother -
2473542

yOT fopenT eTaar @ o & IR A Y1 war s -

Umblical cord

A
Y A1
Placenta
B
ST
Blood capillaries
C
TR BIRBTY
Blood artery
D

& YA

Correct Ans : B

Subject : Child Developement

Q.No: 127 75% brain develops in which age?
2473554

TRASF BT 75% o 5w 3mg & gar 82

2 years

299

5 years

5qy

10 years

10 f

21 years

219§

Correct Ans : B

Subject : Child Developement

Q.No: 128 The process of spoon holding is learnt by child -

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

41/49
Page - 41



2473568

I UHS 3 i arere i § -
Eye and hand coordination
A
g 7d o & I ¥
Social development
B
g fawre &
Physical development
C
TR faom @
Muscles development
D

TiaoRe & e 9
Correct Ans : A
Subject : Child Developement

Q.No: 129 The pace of development varies from one individual to another, but follows pattern?
2473570

A haphazard

A

Keciiict

An unpredictable
B

TR

A sequential and orderly
C

S Td AT

A leg to head
D

RIRR T

Correct Ans : C

Subject : Child Developement

Q.No: 130 Who considered freedom and continuity to be necessary for learning is -

2473749
e & for e o1 vd Feearal &1 siawas -
Skinner
A
e
Frobel
B
rad
Chomsky’s
C
ARDHT
Piaget
D
o

Correct Ans : B

Subject : Child Developement

Q.No: 131 Who gave the principle of language acquisition
2473750

I i T Reg frem far

Choameclv
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Vygotsky

EIEUIcED)

Freud

s

Piaget

i

Correct Ans : A

Subject : Child Developement

Q.No: 132 Babbling started in age.
2473751

EC[G o — 31 H YR gia 3

Two months

A
QN
Four months
B
IR TG
Eight months
C
16 TEH
Twelve months
D

SRS e

Correct Ans : A

Subject : Child Developement

Q.No: 133 First pronounce in babbling process

2473752
Faan 1 i 8w -—--- Bae
Vowels
A
R
Consonants
B
e
Words
C
e
Sentences
D
=

Correct Ans : A

Subject : Child Developement

Q.No: 134 How does the economic status affect the learning of students?
2473770

o faenef siftr W I anfife RS &1 i v wug gsar 87

A Rich student learns more
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iR femdf aiftre SiftrT HRaT & 7

Poor student learns less

B
e feremdf o oiftrT @ §
Not effect of any type
C
et v 1 a T T
Poor student learns more
D

i el sifie siftm war @

Correct Ans : C

Subject : Child Developement

Q.No: 135 Which of the following is not a symbol of individual variation in achievement-

2473771
o 7 & B-11 ey Iuafsr 7 safer e o1 Udie el 8-
Variation in prior experiences
A
od 3rual ¥ faftrar
Gender variation
B
f ¥ faftvaran
Variation in interest
C
et & faftvar
Variation in prior guidance
D

o e # faftrear

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which is the most appropriate mistakes that occurred by the students during learning process
2473772

e St wisean ¥ forenell g1 @1 ¢ Bl B Waiy § SH-91 HY FaH o

Student should never do mistakes

A
el 5t it wfeal 7 Fh R
Mistakes are part of learning process
B
Bfea siftr w31 uw R
Mistakes are due to the careless of students
C
el F eRaTdt & HRr HRA et §
Sometime students can make mistakes
D

-l framdf fedi ox wwar ¥

Correct Ans : B

Subject : Child Developement

Q.No: 137 Most subjective method for measuring personality of a child is-

2473783
TP S0P S AfRTd $ A9 &1 qaiive wfed = ) §-
Projective method

A
nad iy

B Interview method
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TIETHR fafy

Questionnaire method

nyEe fafr

Sociometry method

TS iy

Correct Ans : C

Subject : Child Developement

Q.No: 138 Which of the following is projective technique of personality measurement?

2473784
7§ sfeaa I @ wad fafy 82
Rating scale
A
Fufvor Amoet
Observation
B
SEdieT
Interview
C
TRITPR
Thematic apperception test
D

RISy Tieor
Correct Ans : D

Subject : Child Developement

Q.No: 139 which of the following is not a factor that belongs to the environment or surroundings?

2476809
FoffRd 7 § B-91 SR waferor a1 oRaw § wefia 7 32
Peer-group
A
g & aag
Community
B
RCL
Family
C
TRaR
Emotions
D
YEAIg

Correct Ans : D

Subject : Child Developement

Q.No: 140 1t is important to understand the mechanism of children’s learning to -

2476810
i & WG S dF DI T eyl § R o -
Teach them new concepts
A
I 7€ Hereurd Ry
Make them obedient
B
IR AR TG
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C Help them make friends

I GRd M F TaE X

Learn school manners

Td & REER 99
Correct Ans : A

Subject : Child Developement

Q.No: 141 1t is through that human competence and ability to function in their environment get enhanced.
2476811
T__ S oom AR agy ) emdr ok 3% aaiey 3 $1f $37 ot e B 9fS e 3
Sitting
A
¥
Sleeping
B
@
Learning
C
WewE
Walking
D
T

Correct Ans : C

Subject : Child Developement

Q.No: 142 It is important for the teachers to explore how children -
2476812

i) Think

ii) Learn

Choose the correct code

et & e 75 AT HeaqYl § & o= %4 -
DRIECH

i) Wa §

wd Pl I

i) only

i) Faq
ii) only

i) Haa
Both i) and ii)

i) 3R i) I

Neither i) nor ii)

adri) Tdii)
Correct Ans : C

Subject : Child Developement

Q.No: 143 Learning has been considered partly a cognitive process and partly a/an one.
2476813
31T &Y 3RS T F U FAACHSD TRhaT AR 31w T F vh HIAT IT
&l
A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

46/49
Page - 46



social

IRRSIR St

incognitive

SRFATHS

passive

ffesa

illogical
fognfa

Correct Ans : A

Subject : Child Developement

Q.No: 144 Learning qualifies as a cognitive process because it involves the following:

2476814
e U ST ufiar & w0 H 4 § e s Fafaed mie 3
reasoning only
A
Faq faar (Fefm)
perception only
B
FaA YR (TREARF)
analysis only
C
o TR (R
reasoning, perception and analysis
D

R, 4Rom iR ey

Correct Ans : D

Subject : Child Developement

Q.No: 145 Which of the following statements is NOT correct ?

2476815

Fofafad 4 3 @1 a1 oy I8 T8 82

Teaching and learning have different meaning
A

e SR ST & S-S o Bl §

Teaching and learning are related to each other
B

ST 3R AT U gk § WA &

‘Teaching-learning’ has no separate meaning
C

AT R T IS e o T §

Teaching-learning process is different from both teaching and learning
D

SE- T B U e R fRrm A AR AR

Correct Ans : C

Subject : Child Developement

Q.No: 146 Teaching is NOT associated with -----------
2476817

ST (ARiT) T ey R
A Reading
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SO

Writing
B
fer
Arithmetic
C
SiepTIfOrd
Responsibilities
D

et

Correct Ans : D

Subject : Child Developement

Q.No: 147 Rights and responsibilities are included in -
2476818

i) Education

ii) Teaching

Choose the correct code -

i) e (TgeHer)
i) SeATgH ()
e DI T -

i) only

i) Faq

ii) only

ii) Faq
Both i) and ii)

i) 3R ii) Af

Neither i) nor ii)

adi) TE D)
Correct Ans : A
Subject : Child Developement

Q.No: 148 Learning and thinking are processes.
2477011

i) Relative

ii) Contextual

Choose the correct code

HferT SR e TfeeaTg €1
i) smifée (Rafea)

i) IR (picaudsid)

LEEIERs

i) only

i) Faa
ii) only

i) Paq
Both i) and ii)

i) oK i) €T
D Neither i) nor ii)
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Tdi) Tii)
Correct Ans : C

Subject : Child Developement

Q.No: 149 Who among the following is/are the active participant/s in the leamning process?
2477012

i) Teacher

ii) Leamer

Choose the correct code

Rrafafad 7 Fia e frufrard afmg smier 87
EGED
ii) fvareff

i) only

i) Faa
ii) only

ii) Paa
Both i) and ii)

i) @R ii) ST

Neither i) nor ii)

@i AR i)
Correct Ans : C
Subject : Child Developement

Q.No: 150 Effective teaching is -
2477013

i) Cooperative

ii) Suggestive

Choose the correct code

wurd Rer 2-
i) Feanh
IDAEEINGEED
&l BIS g -
i) only

1) S
ii) only

ii) aq
Both i) and ii)

i) 3R i) S

Neither i) nor ii)
i) TE i)

Correct Ans : C
Subject : Child Developement
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